
 
 

 

 מועד ב 2022יץ ק 481 שאלון סופיפתרון   

 

 1שאלה 

 .קמ"ש 24 - דני  א.

 .קמ"ש 72 - רונן     

 ק"מ. 40  ב.

 

 2שאלה 

 B(20, 0)א.  

 y = -2.5x + 50  ב.

  5 –(x(y  2) +– .58(2  =297.25  ג. 

 ד.  לא

 

 3שאלה 

 0.2   א.

 0.75   ב.

 חתולים. 28  ג. 

  ד. 
𝟓

𝟗
 

 

 4שאלה 

 הוכחהא. 

 הוכחהב. 

 BE = 7.5ג. 

 . הוכחה2ד     . הוכחה1ד

 

 

 

 



 
 

 

 

 5שאלה 

 BAC = 14.773°∢א.  

 BC = 5.156   ב.

 AE = 9.576  ג. 

 CAF = 18.662°∢. 1ד

 CM = 5.396  .2ד

 

 6שאלה 

 x ≠ 8  א.

 b = 12ב.  

 x = 8  ג.  אסימפטוטה אנכית:

 y = 3אסימפטוטה אופקית:     

6ד. 
2

3
 , 0)) 

 x < 8או    x > 8ה. תחומי עלייה:  

 תחומי ירידה:  אין     

 ו. 

 

 IIגרף  .1ז

  .2ז
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 7שאלה 

 x ≥ 0א.  

 (0 , 6)   ,   (0 , 0)ב.  

 בקצה. max(0 , 0)פנימית,    min(2 , -8)ג.  

 ד. 

 

 ה.

 

 2Sו.  

 

 8שאלה 

 2t , (t + 1)(A      ,)29 , (t + 1)(B(א. 

  ב.
(9−𝑡)·(𝑡+1)²

2
=  ABCS 

t = 5   ג.
2
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